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Explain individual reasons of resistance to change.

“The performance and survival of a business organization depends on its management”
explain.
OR

What is organizational change ? Describe the process of planned change and discuss group
and organizational causes of resistance to changes.

Explain the concept and benefits of business ethics and describe the factors affecting
business ethics. :

OR
Define social responsibilities. Discuss the arguments for and against social responsibilities
of the business.

Explain the meaning, causes and effects of conflict.
OR

What is effective co-ordination ? Effective co-ordination is the require of good management”.
explain.

Describe the concept, nature and medium of communication.

OR
Give the difference between formal and informal communication channels.

Write a note on communication skills.
Explain in detail about MIS.

OR
Explain the limitation of MIS and describe the guidelines for effective MIS design.
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